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In truth; 29 maintains as >''9 does, etc.

OVERVIEW

The X3 reconciles the ruling of 21 that it is permitted to be nawa 7%nn2 5¥13; with
the seemingly contradictory view of 27 that 1>n» "X is forbidden. 9010 explains
we can reconcile the view of PXww that 11501 PR is N with the view (according
to 27 °2) that XMW maintains that it is n2w2 77702 w25 70X,
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We can also present a proper reconciliation according to »X»w; in truth SXmnw
maintains as @' does that P12n» X is 1M and nevertheless XMW can maintain that it is
forbidden to be naw2a 712 93712 (as the 27 °2 maintain); the explanation is -
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According to the opinion that the blood is encased (and there is no MR of
772n), it is nevertheless MoK, for he requires the opening (so it is MOX because of
m2) -
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And according to the opinion that the blood is attached (and there is a 7712n), it

is forbidden since he requires the blood, so he is 7197 and therefore MoX, since he is
71307 to make a T2,

SUMMARY
SR can maintain 1207 X is IM2 and nevertheless Nawa 737102 7w2% MoR either
because of 17112 or ?2m.

THINKING IT OVER
1. Why indeed did the X773 only reconcile the contradiction of 27, and not that of
phsialvie

2. Which of these two resolutions is the more obvious (that of 27 or of 2xnw)??

3. Is there a difference between the 70X of 27 and the 70X of SXnw?

I'See ‘Overview’.
2 See bW ROD.
3 This may answer # 1.
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